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chinh céch st dung
tir va cAu tiéng Anh
phu hgp vai tung
ngi canh

I11. N§i dung cau héi thi

PHAN TRAC NGHIEM (5.6 diém)

SECTION 1 (16 questions, 0.2 mark each)

Choose the correct answer A, B, C or D. (3.2 marks — 0.2 each)

Which word is the head of the noun phrase “the charming little cottage”?
A. cottage

B. charming

C. little

D. charming little cottage

ANSWER: A

The syntactic function of the underlined phrase in the sentence “What we need is a clear
plan.”is c.ccevevenennns

A. subject

B. predicator

C. adjunct

D. object complement

ANSWER: A

Which of the following words has more than three morphemes?
A. unpredictable

B. unbreakable

C. rechargeable

D. atomized

ANSWER: A
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Which is a compound adjective?
A. overactive

B. underestimate

C. fireplace

D. bigwig

ANSWER: A

Which one is the derivational paradigm of the word ‘act’?

A. actively, active, action, inactive
B. acts, acting, activeness, action
C. acted, inactive, active, action

D. acting, actively, acted, activeness

ANSWER: A

Which word is a C-FB?
A. purism

B. oyster

C. audience

D. reject

ANSWER: A

Which sentence has a non-finite clause?

A. Exhausted from the hike, we collapsed on the couch.

B. He was in a hurry.
C. We went to the park yesterday.
D. I called him because | needed help.

ANSWER: A
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Which is NOT a complex sentence?

A. It was raining, so we stayed indoors.

B. That he won the first prize surprised everyone.

C. Although she was nervous, she delivered a fantastic presentation.
D. Helen hates her husband to lose his temper.

ANSWER: A

How many lexical morphemes are there in the sentence: *"They got angry with the
baby."

A. three
B. one
C. four
D. two

ANSWER: A

Which word is a C-BB?
A. eject

B. festive

C. dentist

D. climate

ANSWER: A

Which sentence has a dependent clause?
A. I don’t know if John will join us.
B. That is my favorite movie.

C. Bill refuses to eat peas, nor will he touch carrots.
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D. The weather drives me crazy.

ANSWER: A

The kind of pre-modifier occurring in adjective phrases is a(n)..........

A. adverb

B. preposition

C. article (ART)

D. verb

ANSWER: A

A

sentence contains two clauses of unequal status.

A. complex
B. compound
C. simple

D. embedded
ANSWER: A

Ina

A. compound
B. simple

C. complex
D. embedded
ANSWER: A

sentence, two clauses are joined by coordinating conjunctions.

Which of the following sentences has two possible meanings due to structural

ambiguity?

A. He ate the cookies on the couch.
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B. John killed the bird with one stone.
C. I sent two parcels to my friend.
D. She explained the situation to her manager.

ANSWER: A

Which of the following phrases is an adjective phrase?
A. quite expensive for such a small item

B. much evening enjoyment

C. immediately felt guilty

D. the man responsible for the laboratory

ANSWER: A

SECTION 2
IC TREE DIAGRAM (8 questions, 2.4 marks — 0.3 each)

What is each numbered space best replaced with?

L))

/\
NP, ()
/\ /\ a
DET N headA ‘
| "
) headN — \\\_‘
r Aoy

| I I S SR
the chef responsible for the sauces

A. 1: AdvP; 2: AP; 3: ART: 4: NP
B. 1: AP; 2: AdvP; 3: ART; 4: NP
C. 1: AdvP; 2: AdvP; 3: ART; 4: NP
D. 1: AdvP; 2: AP; 3: ART: 4: S
ANSWER: A
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What is each numbered space best replaced with?

AP2 2
/ \ i
3 I "4 ,
‘ DET N
I <
DEG HeadA ART AP3 N
| |
| A HeadN
| |
deeply saddened by the Iatest news

A. 1: AP; 2: AdvP; 3: Adv; 4: NP
B. 1. VP; 2: AdvP; 3: Adv; 4: N’
C.1: AP; 2: AP; 3: Adv; 4: NP
D. 1: VP; 2: AP; 3: Adv; 4: N’
ANSWER: A

What is each numbered space best replaced with?

1.
S
/,‘ \z

VP3 AP3 3

PP
/ . '
\'glp p NP2
7 K

DET2 N'2
| z N
4 AP4 he
l l HeadN2

got excited with the °~ upcoming trip

A. 1:VP; 2: AP; 3: AdvP; 4: ART
B. 1: AP; 2: AP; 3: AdvP; 4: ART
C. 1: VP; 2: AdvP; 3: AP; 4: ART
D. 1: AP; 2: AdvP; 3: AP; 4: DEM
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ANSWER: A

What is each numbered space best replaced with?

/l \

7, A\

/ \ ! VP2 NP4
PP
DET! NI / N\ / \
P .\"P{
’ A . DET3 N2
" HeadN I'-/' \ Ve /\.
ART HeadN| AP2 N2 AP3 N3
ART | . | |
ART ;
ModNl  HeadN2 A HeadN3
The man on the black bench is feeding a big pigeon.

A.1:S;2: NP; 3: VP; 4: AP
B.1:S; 2: VP; 3: NP; 4: AdvP
C. 1:S’; 2: NP; 3: Varp; 4: AP
D. 1: NP; 2: NP; 3: VP; 4: AdvP
ANSWER: A

What is each numbered space best replaced with?

S3

S

S Conj
R
NP1 2
V[{ \Ava
Prol Verpl ady

You should return quickly or

: Vgrpz head A P
| || £ A
y

2 P
%N

VP4 /;,K
-

Pro2

u willbe late for the meeting
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A.1:S; 2: VP; 3: AP; 4: AdvP
B.1:S’;2: VP; 3: AP; 4: AdvP
C.1:S’;2: VP; 3: AdvP; 4: AP
D.1:S; 2: VP; 3: NP; 4: AP
ANSWER: A

What is each numbered space best replaced with?

Ss
Sy Co;xj 1
//\ s T —
NP : NP VP
l 3 / \ | . /2\
PropN  Vgrp A PropN Vgrp BT
[trans] | [trans]

/Qnite clause| | PRO
NPL vri

/
T
/\
{ \

/

John said ¢ e would come back but James didn't believe him

A.1:S;2: VP; 3: NP
B.1:S; 2: VP; 3: AdvP
C.1:5;2:VP; 3:S
D.1:S;2:S’ 3: AdvP

ANSWER: A

What is each numbered space best replaced with?
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NPI | /

VP2 AdvP
e |
VP3 NP2 3
PropN / AN & )\"‘/ ~ 4
DET N’ Ol
PR 7N -
AP2 NP3 VP4
N | PN
VPs
Verpl 3 Prol - 5 P
| s  HeadN Vemp2
)_\ | A N

| have admired that talented musician since | was a teensger
A.1: VP; 2: S’; 3: DEM; 4: S

B.1:VP;2:S’;3: ART; 4: &’

C.1:VP; 2:S;3: ART; 4: S’

D.1:S’;2:S;3: DEM; 4: §°

ANSWER: A

What is each numbered space best replaced with?

8.
. / \\z
! N

. / \ VP2 NP4
cCoMPp - . D/\
NP2 PN
VP4 NP3 l T
.‘ DET Pi \'grp? ART headComN
Varpl
A | hesdN | m’
he Jn erld

That the paintingwas a forgery stunned

A.1:NP; 2: VP; 3: S; 4: VP
B.1:S;2: VP; 3: S’; 4: VP
C.1:NP;2: VP; 3:S’; 4: VP
D.1:S;2:VP; 3:S; 4: VP
ANSWER: A
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PHAN TU LUAN (4.4 diém)
SECTION 3

Identify the different word-formation processes involved in producing each of the
underlined words in these sentences. (2 marks — 0.2 each)

Example: Could you please empty your bag?

Answer: Conversion

Question 1: I'm working on a new app to help people learn languages.

Question 2: After completing the draft, she needed to edit the document for any errors.
Question 3: The man behind the desk eyed us suspiciously.

Question 4: After a long week at work, | just want to chillax on the couch.

Question 5: The firefighter bravely entered the burning building to save the trapped family.
Question 6: Pass me a Kleenex, please. | need to blow my nose.

Question 7: She loves going to karaoke bars on the weekends.

Question 8: She felt discomfort from sitting in the hard chair for too long.

Question 9: Don't forget to wear your raincoat; it is going to be a wet day.

Question 10: I will email you the details.

SECTION 4

Determine the form (N, V, Adj, Adv, or Uninflected Words — UW), position (Nominal,
Verbal, Adjectival, Adverbial), and syntactic functions (Subj, DirObj, IndirObj,
PreObj, SubjComp, Mod...) of the underlined word in each of the following sentences.
(2.4 marks — 0.3 each)

Example: Max was struck by lightning.

Answer: Form: Noun Position: Nominal Function: PrepObj

Question 1: Honestly, | do not mind what he said.

Question 2: John considered Mary the love of his life.

Question 3: He did not know my secret.

Question 4: What we need is a spacious room with all the modern facilities.
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Question 5: John poured Mary some water.

BM-003

Question 6: At the beginning of the party, a band set the mood with their soulful melodies.

Question 7: He was in a good mood after winning the lottery.

Question 8: The cake sitting on the counter looks delicious.

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi | Noi dung dap an Thang diém | Ghi chi
l. Triac nghiém 5.6
Part 1 Answer A 3.2 0.2d mbi
cau
Part 2 Answer A 2.4 0.3d méi
cau
Il. Tw luan 4.4
Part 3 2.0 0.2d mdi
Dap an cau 1: clipping cau
Dép an cau 2: backformation
Dép an cau 3: conversion
Dép an cau 4: blending
Dép an cau 5: compounding
Dép an cau 6: coinage
Dap an cau 7: borrowing
Dap an cau 8: derivation hoac
affixation
Dép an cau 9: compounding
Dép an cau 10: conversion
Part 4 2.4 0.3d mdi
Pap an cau 1: Form: adverb, Position: cau
adverbial, Function: adjunct
Pap an cau 2: Form: Noun phrase,
Position: nominal, Function: Object
complement

Trang 12 /13



BM-003

Dap an cdu 3: Form: Noun phrase,
Position: nominal, Function: direct
object

Dép an cau 4: Form: prepositional
phrase, Position: adjectival, Function:
modifier

bap an cau 5: Form: Noun, Position:
nominal, Function: indirect object
Dap an cau 6: Form: prepositional
phrase, Position: adverbial, Function:
adjunct

Dap an cau 7: Form: prepositional
phrase, Position: adjectival, Function:
subject complement

Dép an cau 8: Form: participial
phrase, Position: adjectival, Function:
Subject complement

Piém tong

10.0

Trwéng bo mon

TS. Nguy&n Hoa Mai Phuong

TP. Hé Chi Minh, ngay 20 thang 6 ndm 2024

Giang vién ra de

—
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